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1. Which equation illustrates conservation of mq:)s?

A) Hz + Oz - Hz0 /BTHZ*-OZ—)ZHZO
@z+6lz—>2 HCl BY Hz + Clza— Hcl

2. Which equation is correctly balanced?

MO + 2H20 — Ca(OH)z

BYCu + HeSO4— CuSO4 + HzO + SOz
@)NHs + 202 > HNOs + Hz0

D) Ca(OH)2 + 2H3PO4 — Ca3(PO4)2 + 3Hz20

3. Given the incomplete equation for the combustion
of ethane:

2C2He+ 702 — 4CO2+ 6 ____
What is the formula of the missing product?

A) HCOOH B) CH3OH

@-lzo D) Hz0z

4, Given the unbalanced equation:

_ Al+__ CuSO4 —___ A12(804)3 +__ Cu

When the equation is balanced using the smallest whole-number coefficients, what is the
coefficient of Al?

A) 1 0 3 D) 4

5. Given the unbalanced equation:

@Mg((ﬂOQﬂs) «-&_@ MgCla(s) +;@Og(g)

What is the coefficient of Oz when the equation is balanced correctly using the smallest whole
number coefficients?

A) 1 B) 2 @ D) 4
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6. Given the balanced equation representing a reaction:

K2CO3(aq) + BaCla(aq) — 2KCl(aq) + BaCOs3(s)

Which type of reaction is represented by this equation?

A) synthesis ouble replacement

€) decomposition D) single replacement

7. Which equation represents a single replacement
reaction?
A) 2H202 oy 2H20 -+ 02
B) 2H; + Oy — 2H50
¢) HCl + KOH — KCl + H,0

QSo4 + Mg — Hy + MgSOy

8. Given the word equation:

sodium chlorate — sodium chloride + oxygen

Which type of chemical reaction is represented
by this equation?

A) double replacement

B) single replacement

C) synthesis

ecomposi’rion

9. Given the balanced equation representing a
reaction:

4Al(s) + 302(g) — 2Al203(s)
Which type of chemical reaction is represented
by this equation?

A) double replacement
ym‘hesis

C) substitution

D) single replacement

10. Which change results in the formation of
different substances?

A) deposition of CO2(g)
B) melting of NaCl(s)

solidification of water
urning of propane
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13. The formula mass of a compound is the

11, The molar mass of Ba(OH)z is '
A) 155.3 B) 3086 g A) sum of the atomic humbers of its atoms
iy I i bers of its
B) products of the atomic numbe
D) 154.3
@71.3 ? ! ’ atoms
; C) product of the atomic masses of its atoms
e T SIS B A I sum of the atomic masses of its atoms
A) 22.4 g/mole B) 95.5 g/mole
@3.5 g/mole D) 28.0 g/mole

0.4 Tectent CompSiHoNn (H 710

14, What is the percent composition by mass of 16. A sample of a substance contaihing only
nitrogen in (NHa)2€03 (gram-formula mass = magnesium and chlorine was tested in the
96.0 g/mol)? laboratory and was found to be composed of
A) 58.4% B) 14.6% 74.5% chlorine by mass. If the total mass of the
929 D) 87 5% sample was 190.2 grams, what was the mass of
@ o ) 87.5% the magnesium?
15. Which compound has the smallest percent A) 243 8'5 9
composition by mass of chlorine? €) 1424 D) 7094
A) Hcl @CI €) Licl D) Nacl
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17. A student determining the percent by mass of
water in a hydrated crystal obtained the
following data.

Mass of crystal before heating..................5.0 g
Mass of crystal after 1st heating............... 40g¢g
Mass of crystal after 2nd heating.............4.0 g

What is the percent by mass of water in the
hydrate?

(a))20% B) 80.%
¢) 0.20% D) 0.80%

18. Given the structural formula:
HHHH
HO-CI'J-CIIW(IJHCIJ*OH
R

What is the empirical formula of this compound?
A) CH3O ( /.t t2Hs0

C) CaH1002 D) CsH2004

19. Which type of formula shows an element symbol
for each atom and a line for each bond between

atoms?
A) empirical @struc‘rur‘al
C) molecular D) ionic

20. The formula H20z2 is an example of

A) an ionic formula
B) an organic formula

@: molecular formula

D) an empirical formula

21. Which molecular formula is also an empirical
formula?

@4205 B) CsHs C) NeHs D) Hz0z

22. A 10.0 gram sample of a hydrate was heated
until all the water of hydration was driven off.
The mass of anhydrous product remaining was
8.00 grams. What is the percent of water in the

drate?
A))20.0% B) 80.0%
C) 125% D) 25.0%
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23. What is the total mass in grams of 0.75 mole of
502?

A)l6g B)24g C) 32g D) 48g

24. What is the mass in grams of 2.0 moles of NO2?
A) 92 B)60. C)30. D)46

25. The total number of moles represented by 20
grams of CaCOs is

A)1 B2 €01 D)O02

26. What is the total mass of 2.0 moles of Hz(g)?
A) 10g B) 20g C) 30g D) 40g

27. Which quantity is equivalent to 39 grams of LiF?

A) 1.0 mole B) 2.0 moles
C) 0.50 mole D) 1.5 moles
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